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A Solution to Problem 2

2-consensus on an initialized queue

procedure consi(Q, R, vali)

R[i]← vali

qi ← Q.deq()

if qi = ”winner” then return vali

else return R[3− i]

Q initialized to 〈 ”winner”, ”loser” 〉.
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2-consensus on uninitialized queues

process p1
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2-consensus on uninitialized queues

procedure proposei(vali)

Qi .enq(”winner”)

Qi .enq(”loser”)

readyi ← true

for k ← 1, 2 do

if readyk then vali ← consi(Qk , Rk , vali)

return vali

Uses: queues Q1,2 (initially empty), registers R1,2[1, 2] and
registers ready1,2 (initalized to false).

A Solution for the Exercise 4


	
	A Solution to Problem 2

